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* 1 irreducible components of dim¢ = 0, with total 59 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u*® —u®®+...+2u—1)

(i) Arc colorings

—ul® — 417 — 8ut® — 8ul3 — 5yl — 209 — 207 — B

w4+ 50l + 12085 + 1508 + 9ttt —wf — 4w — 208 +uP +u

0
aio = \u

1
ayq = u2

—u
ag —_ u

—u3
a1 = \ud+u

ud
ag = wd +ud 4 u
—ub —ut+1
ag = \ —y8 — 28 — 2¢*
wll + 209 + 2u” + u?

ar = \ —yM — 3 — 4" — WP +ud +u
ayp = (

—u* — 1l — W 1
ag = u46+12u44+_”_4u4_u2

—u? —6u? + - +2ud +u
ag = Y- G - BRI IO

—u?® —6u + - +2ud +u
as = \ —u?" —Tu® 4 +ud+u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5" — 4u°® + ... + 16u — 10

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cs ub? — PP 4wt 41

€2 b 27T 4 —2u -1

3,08 w? — P 1220417

C4, Co u U4 2u41

C6 u? +u® 4~ 12041
c7,C11 u?® —5u - —82u+ 13

10 u + 3105 4 —2u— 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,¢5 v 2Ty 2y — 1

C2 y59+11y58+_10y_1

3, C8 y°? — 419°% + ... + 8186y — 289

c4, Co 0+ 3158 =2y — 1

Co yP? — 5y 4 158y — 1

59 58

c7,C11 y?7 +39y°° + - - - — 790y — 169

c10 v =5y 4 -2y -1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.583032 + 0.8130661

3.26959 — 8.778181

—0.47164 + 8.684291

—0.583032 — 0.813066.1

3.26959 + 8.778181

—0.47164 — 8.684291

0.580211 + 0.7941291

5.10030 + 3.645761

2.63542 — 3.972081

0.580211 — 0.7941291

5.10030 — 3.645761

2.63542 + 3.972081

0.105740 + 0.9547371

—3.61435 — 0.814821

—11.81807 4 0.391251

0.105740 — 0.9547371

—3.61435 4 0.814821

—11.81807 — 0.391251

0.583734 + 0.7459351

5.23854 + 0.956991

3.16051 — 3.056251

0.583734 — 0.7459351

5.23854 — 0.956991

3.16051 + 3.056251

—0.513490 + 0.7840531

0.12062 — 2.090291

—3.61559 + 4.040721

—0.513490 — 0.7840531

0.12062 + 2.090291

—3.61559 — 4.040721

0.267008 + 1.0297901

—2.27337 + 5.688281

—7.21814 — 7.123781

0.267008 — 1.0297901

—2.27337 — 5.688281

—7.21814 + 7.123781

—0.590577 4 0.7238041

3.52494 + 4.148091

0.42761 — 2.027431

—0.590577 — 0.7238041

3.52494 — 4.148091

0.42761 4 2.027431

—0.277374 4 0.8552271

—0.47179 — 1.531271

—3.18476 + 4.499871

—0.277374 — 0.8552271

—0.47179 4 1.531271

—3.18476 — 4.499871

0.402583 + 1.0578101

—2.16744 4 5.718121

—4.90219 — 7.500711

= 0.402583 — 1.0578101 —2.16744 — 5.718121 | —4.90219 + 7.500711
= —0.343840 + 1.1244301 —0.89986 — 1.110071 0
= —0.343840 — 1.1244301 —0.89986 + 1.110071 0
= 0.791530 + 0.1887091 0.29452 — 9.845401 | —2.45493 4 7.046151

0.791530 — 0.1887091

0.29452 + 9.845401

—2.45493 — 7.046151

—0.776617 4 0.1943221

2.34089 4 4.719151

0.72234 — 2.898871

—0.776617 — 0.1943221

2.34089 — 4.719151

0.72234 + 2.898871

0.760501 + 0.1557951

—2.48885 — 2.556801

—6.01367 + 2.158691

0.760501 — 0.1557951

—2.48885 + 2.556801

—6.01367 — 2.158691

—0.345622 + 1.1790201

—1.76168 + 1.108671

0

—0.345622 — 1.1790201

—1.76168 — 1.108671

0

—0.734385 + 0.2231401

3.02131 4 2.161481

1.92228 — 2.648691

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

—0.734385 — 0.2231401

3.02131 — 2.161481

1.92228 + 2.648691




Solutions to I}

V=1(vol + y=1CS)

Cusp shape

u = —0.762070 + 0.0317021

—4.96969 + 3.703481

—7.82347 — 4.149211

u = —0.762070 — 0.0317021

—4.96969 — 3.703481

—7.82347 4 4.149211

uw= 0375195+ 1.1823801 —6.39612 4 1.214541 0
u= 0375195 — 1.1823801 —6.39612 — 1.214541 0
u= 0.345299 4 1.1927101 —3.87250 — 6.149881 0

= 0.345299 — 1.1927101 —3.87250 + 6.149881 0

= 0.711490 + 0.2479591

1.56541 + 2.829971

—0.36876 — 2.809031

uw= 0.711490 — 0.2479591

1.56541 — 2.829971

—0.36876 + 2.809031

u= 0.517320 + 1.1386201 —1.02512 4 1.838451 0
= 0.517320 — 1.1386201 —1.02512 — 1.838451 0
u= 0449779 4+ 1.1763501 —5.36932 + 4.228311 0
u= 0449779 — 1.1763501 —5.36932 — 4.228311 0
u = —0.520078 4 1.1515901 0.31706 — 6.890441 0
u = —0.520078 — 1.1515901 0.31706 + 6.890441 0
u = —0.435858 + 1.1931201 —8.51972 — 0.544621 0
u = —0.435858 — 1.1931207 —8.51972 4 0.544621 0
u = —0.462214 4+ 1.1915701 —8.33359 — 8.139371 0
u = —0.462214 — 1.1915701 —8.33359 + 8.139371 0
uw=0.509182 + 1.1748201 —5.45452 + 7.278101 0
u=0.509182 — 1.1748201 —5.45452 — 7.278101 0
u = —0.524148 4+ 1.1714601 —0.52516 — 9.558231 0
u = —0.524148 — 1.1714601 —0.52516 + 9.558231 0
u= 0.715690 —2.04472 —3.85390
u= 0.526243 + 1.1775901 —2.6156 + 14.72811 0
uw= 0.526243 — 1.1775901 —2.6156 — 14.72811 0

u = —0.380000 + 0.5904671

0.23726 — 1.534141

0.41319 4 4.581561

u = —0.380000 — 0.5904671

0.23726 4 1.534141

0.41319 — 4.581561

u= 0.465645 + 0.3518381

—0.26046 — 2.032301

—0.35610 + 3.522701

u = 0.465645 — 0.3518381

—0.26046 + 2.032301

—0.35610 — 3.522701




II. u-Polynomials

Crossings u-Polynomials at each crossing

c1,¢s u? — P w41

C2 uP? 270 4~ 2u— 1

c3,Cs b — w4 —122u 4+ 17

c4, Co w4 2u+1

6 b Ut 4 — 120+ 1
c7,C11 W =5+ —82u+ 13

€10 w310 4 —2u—1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

C1,Cs v 2Ty -2y — 1

€2 Yo+ 11y 4 10y — 1

C3,Cs y?? — 41y°8 + - + 8186y — 289

C4, Co Y0 431y =2y — 1

6 y*? —5y" + . 4+ 158y — 1
7,11 y*? +39y°% + ... — 790y — 169

10 Y — 5y 4 2y — 1




